
Rockwell Unscripted ® 
August 11, 2020 

Rockwell Unscripted ® Creative Wall ® Install Instructions 

Rockwell Unscripted ® Creative Wall ®  Install Instructions 
  

Sheet a

Table of Contents 

Trims: Top, Bottom, End, Headers 

Horizontal Trims 	 1-3 

Vertical End Trims 	 4-5 

Header to Wall Frame 	 6-12 



Rockwell Unscripted ® 
August 11, 2020 

Rockwell Unscripted ® Creative Wall ® Install Instructions 

Sheet 1

Rockwell Unscripted ® Creative Wall ®  Install Instructions 
  Horizontal Trims 
  
Pattern Numbers Represented:  
Unscripted Borders Top Trim, UBTT__ 
Unscripted Borders Bottom Trim, UBBT__ 
Unscripted Borders Horizontal Trim End Cap, UBHTEC 

Part List:
(A) #6 x 3/8” Pan Head Screw (qty varies with trim length) 
(B) Snap Bracket (qty varies with trim length) 
(C) Trim Filler (1 per assy, metal trims only) 
(D) Horizontal Trim     

Tools Needed: 
Phillips Screw Driver #2 Bit 
Ladders  

STEP: 

Note: 

•	� Horizontal Trims mount above and below the 
Wall Frame Horizontals

•	� Installation of the Upper and lower Horizontal 
Trims (D) is the same except for Step 6.

•	� Horizontal Trims (D) come with Snap Brackets 
(B) already assembled.

•	� See the Glide and Horizontal Trim Bracket 
Installation Instructions for Horizontal Trim 
bracket installation.

(B) 6AJ1120

(A) 6AJ4033

rockwell_ii_wall_HORIZONTAL TRIMS_TEXT_180129_2.ai

(C) 6AJ4065
(UBHTEC)

HORIZONTAL TRIM (D)
TRIM FILLER (C)

HORIZONTAL TRIM
BRACKET

WALL FRAME 
HORIZONTALS

LOWER
HORIZONTAL 

TRIMS

UPPER
HORIZONTAL 

TRIMS

SNAP 
BRACKET 

(B)

#6 X 3/8" 
PAN HEAD 

SCREW
(A)



Rockwell Unscripted ® 
August 11, 2020 

Rockwell Unscripted ® Creative Wall ® Install Instructions 

Sheet 2

Rockwell Unscripted ® Creative Wall ®  Install Instructions 
  Horizontal Trims 
  
1.	� Select the appropriate length Horizontal Trim 

(D) for the location on the Wall Frame.

	� Note:  
Horizontal Trims (D) are usually the same width 
as the Wall Frame or width of corresponding 
Vertical Surface.  In situations such as 
perpendicular Beams and Off-Module Walls, 
shorter Horizontal Trims are needed at the 
upper locations to provide passage through 
the Horizontal Trim.

2.	� Metal trims only:  Slide the Trim Filler (C) into 
one end of the Horizontal Trim (D) extrusion if 
they are not already installed.  Ensure that (1) 
Trim Filler (C) will be in place at each interface 
between adjacent Horizontal Trims both in 
upper and lower Trim positions.

3.	� Align the Snap Bracket (B) on the back of the 
Horizontal Trim (D) with the rectangular holes 
in the Horizontal Trim Brackets previously 
installed on the Wall Frame.  

	� Note:  
In some situations the Snap Bracket (B) and/
or Horizontal Trim Brackets may need to be 
repositioned.  In all situations, each Horizontal 
Trim must be supported by 2 Trim Brackets.

4.	� Push the Horizontal Trim (D) against the 
Horizontal Trim Brackets and push down to 
engage the Snap Brackets (B).

5.	� Metal trims only:  To prevent light leakage 
between adjacent Horizontal Trims, slide the 
previously installed Trim Filler (C) so that it 
straddles the joint between the Horizontal 
Trims.

6.	� The upper Horizontal Trims (D) require 
anti-dislodgment screws.  Install the (2) #6 x 
3/8” Pan Head Screw (A) through the hole in 
the Horizontal Trim Bracket and into the back 
of the Horizontal Trim (D).

  

HORIZONTAL TRIM (D)

ANTI-DISLODGMENT SCREW (A)

HORIZONTAL TRIM BRACKET

UPPER HORIZONTAL



General Notes
1. “HL” and "ZZ" prefix in pattern number denotes 24-Response. Part will be shipped within 24-hours via ground service, pending availability; quantity 

limits and higher pricing apply.
2. See the product Price Lists on www.Knoll.com for material, textile, and finish options denoted by (  ).
3. * Not offered as an orderable service part number.

Rockwell Unscripted ® 
August 11, 2020 Sheet 3

Rockwell Unscripted ® Creative Wall ® Replacement Parts 

Rockwell Unscripted ® Creative Wall ® Replacement Parts   
  Horizontal Trims 

Description Reference* Replacement Pattern Number

Light gap filler, horizontal trim 6AJ4065 KR6AJ4065
Includes:
6AJ4065 - qty 1

Screw, pan head phillips drive, #6 x .375", black 6AJ4033 KR6AJ4033
HLKR6AJ4033  24-Response
Includes:
6AJ4033 - qty 1
(See following table for total qty required)

Trim snap bracket 6AJ1120 KR6AJ1120
Includes:
(See following table for total qty required)

Hardware quantity per Horizontal Trim width

Patterns Widths Total quantity for bracket and screw

UBTT, UBBT (28 - 96)
Horizontal trims
(top and bottom, metal and wood) 14" w - 63" w

64" w - 86" w
88" w - 96" w

6AJ1120 (bracket)

2
3
4

6AJ4033 (screw)

6
9
12



Rockwell Unscripted ® 
August 11, 2020 

Rockwell Unscripted ® Creative Wall ® Install Instructions 

Sheet 4

Rockwell Unscripted ® Creative Wall ®  Install Instructions 
  Vertical End Trims 
  
Pattern Numbers Represented:  
Unscripted Borders End Cover 
	 Full Height, UBNF__ 
	 Under Header, UBNH__ 
	 Under Crossmember, UBNB__ 

Part List:
(A) ¼-20 Hex Nut with Lock Washer (3 per assy) 
(B) ¼-20 Hex Base Leveler (3 per assy) 
(C) Vertical End Trim    

STEP: 

1.	� Select the appropriate Vertical End Trim (C) for 
location on the Wall Frame.

	� Note:  
Vertical End Trims (C) come in 3 sizes:  Full 
height (89”), under Cross Beams (87”) and 
under Headers (85”).

2.	� Insert (3) ¼-20 Thin-Head Hex Bolt (B) into the 
channel on the back side of the Vertical End 
Trim (C).

3.	� Align the ¼-20 Thin-Head Hex Bolt (B) with 
the 3 holes in the Wall Frame’s End-Upright 
(top, middle, and bottom).  

	� Note:  
ape can be used to hold the ¼-20 Levelers (B) 
in position on the Vertical End Trim (C) while 
¼-20 Thin-Head Hex Bolt (B) are inserted into 
the holes in the End-Upright.

4.	� Use (3) ¼-20 Hex Nuts (A) on the inboard side 
of the End-Upright to secure the ¼-20 
Thin-Head Hex Bolt (B).  The Vertical End Trim 
(C) should be aligned with the top of the upper 
Horizontal Trim and bottom of the lower 
Horizontal End Trim.  Do not over tighten to 
avoid damage to the Trim.

	� Note:  
If Horizontal Trims have not been installed yet, 
the Vertical End Trim (C) can be positioned 3” 
beyond the Wall Frame’s upper or lower 
Horizontals.  

Tools Needed: 
7/16” Combination Wrench 

(B) 6AJ4025

(A) 1A52309H01

(B) 6AJ4025(A) 1A52309H01

at 60%

1/4-20 THIN-HEAD 
HEX BOLT (B)

1/4-20 HEX NUT (A)

HORIZONTAL
TRIMS

ALIGN

ALIGN

VERTICAL 
END TRIM (C)

VERTICAL
END TRIM (C)

WALL FRAME
END-UPRIGHT

WALL FRAME
HORIZONTAL

3"

3"



General Notes
1. “HL” and "ZZ" prefix in pattern number denotes 24-Response. Part will be shipped within 24-hours via ground service, pending availability; quantity 

limits and higher pricing apply.
2. See the product Price Lists on www.Knoll.com for material, textile, and finish options denoted by (  ).
3. * Not offered as an orderable service part number.

Rockwell Unscripted ® 
August 11, 2020 Sheet 5

Rockwell Unscripted ® Creative Wall ® Replacement Parts 

Rockwell Unscripted ® Creative Wall ® Replacement Parts   
  Vertical End Trims 

Description Reference* Replacement Pattern Number

Hex nut with lock washer, 1/4-20, zinc 1A52309H01 KR1A52309H01
HLKR1A52309H01  24-Response
Includes:
1A52309H01 - qty 1
(Total required per assy = 3)

Thin head hex bolt 1/4-20 x 1.25 (leveler) 6AJ4025 KR6AJ4025
HLKR6AJ4025  24-Response
Includes:
6AJ4025 - qty 1
(Total required per assy = 3)



Rockwell Unscripted ® 
August 11, 2020 

Rockwell Unscripted ® Creative Wall ® Install Instructions 

Sheet 6

Rockwell Unscripted ® Creative Wall ®  Install Instructions 
  Header to Wall Frame 
  
Pattern Numbers Represented:  
Unscripted Borders Headers Mounting Channel, UBHC__ 
Unscripted Borders Headers Mounting Flush, UBHF__ 

Part List:
(A) Header (A)
(B) Horizontal Trim (2 per assy)
(C) Smooth-Bottom Filler (6AJ1165__, 1 per assy) 
	 or (D) Drapery Track Filler (6AJ1166__, 1 per assy) 
	 & (E) Drapery Track Block (6AJ116637, 1 per assy) 
(F) ¼-20 x 3 ¼” Pan Head Screw (4 per assy)
(G) ¼-20 x ½” Pan Head Thread-Forming Screw (8 per assy)
(H) ¼-20 x ¾” Hex Head Screw (H) (qty varies by size)
( I ) ¼-20 x ¾” Hex Nut with Lock Washer (I) (qty varies by size)    

Tools Needed: 
Drill  
Phillips #3 Bits 
0.203 (13/64”) Diameter Drill Bit 
Ratchet & 7/16” Socket
Ladders  

STEP: 

Note: 

• 	� Fully assembled Headers are 4” high and are a 
continuation of the upper Horizontal Trims 
over an open span between 2 inline Wall 
Frames.

• 	� Select the appropriate Header (A) for the span 
between Wall Frames. Headers are 21” longer 
than the opening they span. Each end 
overlaps the Wall Frames by 10.5”.

• 	� Headers (A) can have a Smooth Bottom Filler 
(C) or a Drapery Track Filler (D) on the bottom 
side of the Header depending on the bottom 
filler specified.  

(F) 6AJ4022

(I) 1A52309H01 (H) 6AJ4089

(G) 6AJ4109

(F) 6AJ4022

( I ) 1A52309H01 (H) 6AJ4089

(G) 6AJ4109

at 80%

NOMINAL 
HEADER SIZE 

AND SPAN

10.50"
OVERLAP



Rockwell Unscripted ® 
August 11, 2020 

Rockwell Unscripted ® Creative Wall ® Install Instructions 

Sheet 7

Rockwell Unscripted ® Creative Wall ®  Install Instructions 
  Header to Wall Frame 
  
1. 	� First remove the upper Horizontal Trim 

Brackets mounted at the ends of the Wall 
Frames.  

	 �Note:  
The Header (A) includes Horizontal Trim 
mounting details.   

2. 	� Place the Header (A) across the span between 
the 2 inline Wall Frames and attach using (1) 
¼-20 Nut Plate (J) and (2) ¼-20 x 3” Pan 
Head Screws (F) through the first 2 holes in 
each Wall Frame’s upper Horizontal.  

	 �Note:  
Complete Step 3 before tightening all screws. 

3. 	� Install (2) ¼-20 x ½” Pan Head Thread-Form-
ing Screws (G) through each end of the 
Header (A) and into the holes previously used 
to attach the Horizontal Trim Brackets.

4. 	� Using the outer most holes in the Header (A) 
as a template, drill (2) .203 diameter pilot holes 
in the Wall Frame Horizontals and install (2) 
¼-20 x ½” Pan Head Thread-Forming Screws 
(G) in each end of the Header (A).  

HEADER (A)

WALL FRAME

1/4-20 x 1/2" THREAD FORMING SCREW (G)

1/4-20 x 3" PAN HEAD SCREW (F)

 

REMOVED
EXISTING 

HORIZONTAL 
TRIM BRACKET

 

REMOVED
EXISTING 

HORIZONTAL 
TRIM BRACKET

NUT PLATE (J)

WALL FRAME

HORIZONTAL

HORIZONTAL

DRILL

DRILL



Rockwell Unscripted ® 
August 11, 2020 

Rockwell Unscripted ® Creative Wall ® Install Instructions 

Sheet 8

Rockwell Unscripted ® Creative Wall ®  Install Instructions 
  Header to Wall Frame 
  
5. 	� Install the appropriate Header Filler to the 

underside of the Header   

Flush Bottom Configurations: 
a. 	� Assemble ¼-20 x ¾” Hex Head Screws (H) into the channel on the upper side of the Flush Bottom Filler (C). Quantity depends on 

the Header size and number of screws provided.

b. 	� Install the Filler onto the bottom side of the Header by aligning the ¼-20 x ¾” Hex Head Screws (H) with holes in the Header (A) and 
assembling ¼-20 Hex Nuts ( I ) from the top side of the Header.  

Drapery Track Configurations:  
a. 	� Assemble ¼-20 x ¾” Hex Head Screws (H) into the channel on the upper side of the Drapery Track Filler (D). Quantity depends on 

the Header size and number of screws provided.

b. 	� Install the Filler onto the bottom side of the Header by aligning the ¼-20 x ¾” Hex Head Screws (H) with holes in the Header (A) and 
assembling ¼-20 Hex Nuts ( I ) from the top side of the Header. The Drapery Track Filler (D) is to be biased to one end of the span 
and against the Wall Frame’s upper Horizontal. 

c. 	� Assemble (1) ¼-20 x ¾” Hex Head Screw (H) into the channel on the upper side of the Drapery Track Block (E). This Block is a 3” 
length of the Drapery Track filler extrusion.

d. 	� Position the Drapery Track Block (E) in the gap at the end of the previously mounted Drapery Track Filler (D). Install onto the bottom 
side of the Header (A) by aligning the ¼-20 x ¾” Hex Head Screw (H) with hole in the Header (A) and assembling (1) ¼-20 Hex Nut ( I 
) from the top side of the Header. This block will be temporarily removed during curtain installation.  

1/4-20 HEX NUT (I)

1/4-20 x 1/2" 
HEX HEAD 
SCREW (H)

CURTAIN CHANNEL FILLER (D)

SMOOTH BOTTOM FILLER (C)
OR

CURTAIN CHANNEL 
BLOCK (E)



Rockwell Unscripted ® 
August 11, 2020 

Rockwell Unscripted ® Creative Wall ® Install Instructions 

Sheet 9

Rockwell Unscripted ® Creative Wall ®  Install Instructions 
  Header to Wall Frame 
  
6. 	� Install Horizontal Trims (B) on both sides of the 

Header (A).

	 �Note:  
This Horizontal Trim (B) length corresponds 
with the span between the Wall Frames.  

HORIZONTAL TRIM (B)

EXISTING WALL FRAME'S 
HORIZONTAL TRIM

HEADER



General Notes
1. “HL” and "ZZ" prefix in pattern number denotes 24-Response. Part will be shipped within 24-hours via ground service, pending availability; quantity 

limits and higher pricing apply.
2. See the product Price Lists on www.Knoll.com for material, textile, and finish options denoted by (  ).
3. * Not offered as an orderable service part number.

Rockwell Unscripted ® 
August 11, 2020 Sheet 10

Rockwell Unscripted ® Creative Wall ® Replacement Parts 

Rockwell Unscripted ® Creative Wall ® Replacement Parts   
  Header to Wall Frame 

Description Reference* Width Replacement Pattern Number

Filler extrusion, for door header without drapery 6AJ1165__

6AJ116501(  ) 
6AJ116502(  ) 

6AJ116503(  )
6AJ116504(  )
6AJ116505(  )
6AJ116506(  )
6AJ116507(  )

6AJ116508(  )
6AJ116509(  )
6AJ116510(  )
6AJ116511(  )
6AJ116512(  )

6AJ116513(  )
6AJ116514(  )
6AJ116515(  )
6AJ116516(  )
6AJ116517(  )

6AJ116518(  )
6AJ116519(  )
6AJ116520(  )
6AJ116521(  )
6AJ116522(  )

6AJ116523(  )
6AJ116524(  )
6AJ116525(  )
6AJ116526(  )
6AJ116527(  )

6AJ116528(  )
6AJ116529(  )
6AJ116530(  )
6AJ116531(  )
6AJ116532(  )

6AJ116533(  )
6AJ116534(  )
6AJ116535(  )
6AJ116536(  )

26" w
28" w

30" w
32" w
34" w
36" w
38" w

40" w
42" w
44" w
46" w
48" w

50" w
52" w
54" w
56" w
58" w

60" w
62" w
64" w
66" w
68" w

70" w
72" w
74" w
76" w
78" w

80" w
82" w
84" w
86" w
88" w

90" w
92" w
94" w
96" w

Includes: qty 1

KR6AJ116501(  )
KR6AJ116502(  )

KR6AJ116503(  )
KR6AJ116504(  )
KR6AJ116505(  )
KR6AJ116506(  )
KR6AJ116507(  )

KR6AJ116508(  )
KR6AJ116509(  )
KR6AJ116510(  )
KR6AJ116511(  )
KR6AJ116512(  )

KR6AJ116513(  )
KR6AJ116514(  )
KR6AJ116515(  )
KR6AJ116516(  )
KR6AJ116517(  )

KR6AJ116518(  )
KR6AJ116519(  )
KR6AJ116520(  )
KR6AJ116521(  )
KR6AJ116522(  )

KR6AJ116523(  )
KR6AJ116524(  )
KR6AJ116525(  )
KR6AJ116526(  )
KR6AJ116527(  )

KR6AJ116528(  )
KR6AJ116529(  )
KR6AJ116530(  )
KR6AJ116531(  )
KR6AJ116532(  )

KR6AJ116533(  )
KR6AJ116534(  )
KR6AJ116535(  )
KR6AJ116536(  )



General Notes
1. “HL” and "ZZ" prefix in pattern number denotes 24-Response. Part will be shipped within 24-hours via ground service, pending availability; quantity 

limits and higher pricing apply.
2. See the product Price Lists on www.Knoll.com for material, textile, and finish options denoted by (  ).
3. * Not offered as an orderable service part number.

Rockwell Unscripted ® 
August 11, 2020 Sheet 11

Rockwell Unscripted ® Creative Wall ® Replacement Parts 

Rockwell Unscripted ® Creative Wall ® Replacement Parts   
  Header to Wall Frame (cont.) 

Description Reference* Width Replacement Pattern Number

Filler extrusion, for door header with drapery 6AJ1166__

6AJ116601(  ) 
6AJ116602(  ) 

6AJ116603(  )
6AJ116604(  )
6AJ116605(  )
6AJ116606(  )
6AJ116607(  )

6AJ116608(  )
6AJ116609(  )
6AJ116610(  )
6AJ116611(  )
6AJ116612(  )

6AJ116613(  )
6AJ116614(  )
6AJ116615(  )
6AJ116616(  )
6AJ116617(  )

6AJ116618(  )
6AJ116619(  )
6AJ116620(  )
6AJ116621(  )
6AJ116622(  )

6AJ116623(  )
6AJ116624(  )
6AJ116625(  )
6AJ116626(  )
6AJ116627(  )

6AJ116628(  )
6AJ116629(  )
6AJ116630(  )
6AJ116631(  )
6AJ116632(  )

6AJ116633(  )
6AJ116634(  )
6AJ116635(  )
6AJ116636(  )

26" w
28" w

30" w
32" w
34" w
36" w
38" w

40" w
42" w
44" w
46" w
48" w

50" w
52" w
54" w
56" w
58" w

60" w
62" w
64" w
66" w
68" w

70" w
72" w
74" w
76" w
78" w

80" w
82" w
84" w
86" w
88" w

90" w
92" w
94" w
96" w

Includes: qty 1

KR6AJ116601(  )
KR6AJ116602(  )

KR6AJ116603(  )
KR6AJ116604(  )
KR6AJ116605(  )
KR6AJ116606(  )
KR6AJ116607(  )

KR6AJ116608(  )
KR6AJ116609(  )
KR6AJ116610(  )
KR6AJ116611(  )
KR6AJ116612(  )

KR6AJ116613(  )
KR6AJ116614(  )
KR6AJ116615(  )
KR6AJ116616(  )
KR6AJ116617(  )

KR6AJ116618(  )
KR6AJ116619(  )
KR6AJ116620(  )
KR6AJ116621(  )
KR6AJ116622(  )

KR6AJ116623(  )
KR6AJ116624(  )
KR6AJ116625(  )
KR6AJ116626(  )
KR6AJ116627(  )

KR6AJ116628(  )
KR6AJ116629(  )
KR6AJ116630(  )
KR6AJ116631(  )
KR6AJ116632(  )

KR6AJ116633(  )
KR6AJ116634(  )
KR6AJ116635(  )
KR6AJ116636(  )



General Notes
1. “HL” and "ZZ" prefix in pattern number denotes 24-Response. Part will be shipped within 24-hours via ground service, pending availability; quantity 

limits and higher pricing apply.
2. See the product Price Lists on www.Knoll.com for material, textile, and finish options denoted by (  ).
3. * Not offered as an orderable service part number.

Rockwell Unscripted ® 
August 11, 2020 Sheet 12

Rockwell Unscripted ® Creative Wall ® Replacement Parts 

Rockwell Unscripted ® Creative Wall ® Replacement Parts   
  Header to Wall Frame (cont.) 

Description Reference* Replacement Pattern Number

Screw, pan head phillips drive, 1/4-20 x 3.25", black, with lockpatch 6AJ4022 KR6AJ4022
HLKR6AJ4022  24-Response
Includes:
6AJ4022 - qty 1
(Total required per assy = 4)

Screw, pan head, phillips drive, thread forming, 1/4-20 x .5", black 6AJ4109 KR6AJ4109
HLKR6AJ4109  24-Response
Includes:
6AJ4109 - qty 1
(Total required per assy = 8)

Screw, hex head, 1/4-20 x .75", Zinc 6AJ4089 KR6AJ4089
HLKR6AJ4089  24-Response
Includes:
(See following table for total qty required)

Hex nut with lock washer, 1/4-20, zinc 1A52309H01 KR1A52309H01
HLKR1A52309H01  24-Response
Includes:
1A52309H01 - qty 1
(See following table for total qty required)

Hardware quantity per Door Header width

Patterns Widths Total quantity for nut and screw

UBHC (28 - 96)
Door header with drapery

28" w
30" w - 50" w
52" w - 62" w
64" w - 86" w
88" w - 96" w

1A52309H01 (nut)

12
14
16
17
19

6AJ4089 (screw)

8
10
12
13
15

UBHF (28 - 96)
Door header without drapery

28" w
30" w - 52" w
54" w - 62" w
64" w - 86" w
88" w - 96" w

1A52309H01 (nut)

6
8
10
11
13

6AJ4089 (screw)

2
4
6
7
9


